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the positive niate to deliver to
the negative plate in (0.02s) 1 the eleciric

potential difference between these 'wo gl 5 A S (0.02%)
pavallel plates is (100V)7 What is the e (100V) Cua 3l Sy iy 380
acceleration of the proton? tUs AN Alas

1.9x10%m/s* O

3.8%x10%m/¢? O
o

1.4x10%n/s?



The space between the plates of au bsolated parallel plate 21 NS e I (S g 5 ) g wediin

capacitor is Alked with a slab of dielectric material. The QUadl e g Saig 4 7 2 A 3 Sy
maguituie of the charge Q om cnch plate b Rept comstand, If Skl A 1 e 1 S A 8 e B Wt
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The electyic potential of a point . R e e Sl

charge (3.0EY) is (1.2m) away from 2 Ao (30KV) kil e
this charge. What is the charge JEa e Al i e (1.2m)
amouvut? Vadansd!
0.4
2.5m¢ O
1.8pC O
0.08pC O



TS A B g A okl o ABSD 40 480 dadl L
What is the equivalent capacitance between A & B in the figure?

10 uF
10 pF 10 uF
A — |._ 8
10 uF
30 uF O
40 uF O
25 nF O



Assume thot the cube shown in the

o Saa SR B AUD Gt o) ol
figure contains seven electrons, eight

1388 5 S g g g S D e
neutrons, and a number of protons, R S SR A Vi 5 g
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il the electric Mux through the cabe )?3";2 «;’::BN 2/(:)3» ..:
is ~8BNm 2 : AR X i
(3.62)(10 Nm/C) Calall b iy ) 22 L

How mauy protons in the cube?
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||t Wil by A s D
Accordiug 1o the figure, two charges (Q=-3.0pC) 3(g =+2.0nC)
(Q= -3.00C) #ud (g = +2.00C), the elecrric force belween
them eqnals to (7.3 x 1074X) and the distance between
them i (5.6m), 5 g & placed at (Sm0m). What is the A g e g SIS (860

electric field af the polut (0,0)? ! ba (8110, O el

'y (7.3 % 1079N) A 4
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Which ot the following are iaterials OS5 AN o gl e

that have (R=0Q)? ¢(R=0Q) s

Semiconductors
-t p Vg’

Contuctors
- § &



To the Bgnie. 2 vmall pegath ey charges ehjest s plced a1t
rest s x unifoom electric fiebd Which of the fallowing

sistemneaty Sewcribes the metior of the obpect when # b
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(Neghect the mann)
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ASEIN 20X 10M ) 2 g (640 ) Do e daded
Thakill ada 2 Sl 2OV 23 L
A picce of a metal with a charge of (+6.4C) contains (2.0 x 10™ prolons).
What ks the number of electrons in this plece?

401007 electron O
1.6X 1020 electron O
2.0X 1020 election O

2.4X1020 eleceron ®




What does xrepresent in the equation

dg = XdV

for a cnarge distribution over all the parts of an

insulating sphere?
And what iz the unit of x?
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The figure Jhaws thiee charge phoed o thiee B P g i S Sy S
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Twe paraliel plase capaciton with
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Which of the following Is not an equipotential surface?
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I he magnitude of the electyic fiewa due to Y IR - b BT S UL T S

an indinite. at, thin and noncvonducting plane od G & St + ol A e § iy A
charge s (300X 10°N'C). Assuming that the charge 0 3 Zie (300X 10°N/C) 32 A o
is iniformiy distributed, what is the charge i) 4RSS L . AL A2 T e Ada!
density on the surface of the pline? Y ! o
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According to the figure, 2 uniform clectric fleld T S ) —
(E=360N/Cy, that s perpendicular 10 the plane of ole  Jf joet 8t Sbihs (E=300N/C) pie
face of the cube. If the electric Muy passing through the o 380 80D S5 10 calddi 4a y )
left shaded fuce is equal to CLINIYC), What is the by LINIYC) S Vi 4a g 28
cube skl dength? et SU LR ST
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Suppose that the voltage at a point is given

b) the cqua(lon Mhm& ’h»ﬂ’ w‘ & e s

(Vixy.z) = 8x-9v+32%) in volts, (ol gl B g (V(X,2)= 8x-9v+52%)
Which of the dimensions (x.3.2) Lo g A Sl el daas (xy2) S O !
determines the magnitude of the clectric field at adail 2T
this point?
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Which of the (ollowing statements s correct? Taasaas AU 35 dad e
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Accerding 1o the Bgure. a paraliel plate canacitor in A oD g g s JD W
VACRNI COIEING of IWO condueting niates, each Baving o o e Db 8 e sl B
area A and spposite charges, separcied by a distance & ey s i § A A s s
If the elecivic potential diffevence between the twe plates 08510 d e Ly Jab s

of 1he capaciee: s (20OV), What s ehecriic patranial A20.0V) LS _ag w0 44
diffevence Detveen (he Ive plates: nhen the distance Lt st S ) 94 el
Betwess them s eqpuad 1o {0.54)7 "(0.54) ) Tt
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20.0v O



According to the figure of parallel plate capacitor, if SISV 53D b e gD 5 I e oiaZ U
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